—_

HOwWwN

YR

A

EEREBRR

IR

LB M &

No. 416

%

Wz —B1SHERAERRELIS

I

MAmTH

Wz— &l N

H{H|H

TErk20&E12815H8

o

FR2152R27H

FT

L3

MBIER L=40m

SHEERIERE W=5. 2m

JISEE[ET L=40m

HET A=170m

XE#HRT 1

A L A H

F 205128158

F& 1 B 20

R N F ®

— RS

*

&

IAR—=H

T E fili #& (B 4%)

1,513,000

B 6 A PR fiff 4 (B k)

908,000

A 2l A% (B k)

1,407,000

% AL & B (Bl iR)

1,298,000

Z KN &

#

1,362,900

* Al &

mMABm™H

BAEE=TH2—

37

ARSHTIIRY—

x H 4

A KL & #

KAt FEREX

SMERKIN

=
W
z

AR=#HRTIE

SMEEKD

kr
B
9

BHREHAE

FHIR

BAREHITATRL—

1,298,000

EHL

1/1




